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00.00,c000 ||¢J0c0000 |¢|000000000. 0000
0,000000 WOOODOOOO0O00O (00000000000
¢c00000000«00000000000000000.32000,
00000000000000000000000000000000
ooooooo.

goboododdooooooooddgon
000000 |e)0000000 (g O

n

(@] = (aila;) (@] (3.16)

J=1

000.00,000000 (60000000 |g) 0

|a;) = Z |aj)(a;|a;) (3.17)
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D00.000,(317) 0000000000 (ala))000000. (ala;)
000000000

n

> (@lax) (axlas) = (@ila;) = 6 (3.18)

k=1

00000000000, (3.18)0 (4e;) 000000000 (4]a;) 0
D000000.000, {(ae,) 000000000, (ala;) O (aila;) O
000000.00000,

n

> ailar)(@xla;) = (aila;) = 5 (3.19)

k=1

00000.0000000,(3.10),(3.14) 0000 |g)0000000
0o

) (3.20)
j=1

gobooo.

3.2 UOOoooOond

goooobooooon
0000X:V-A00000000,X00000000X7:4—-V
U

(ul XTIA) = ((A[ X [u))* (3.21)

0D0000000. 000 ueV,[\)edAdDDDODODDOOOO. O
0oooooo

(xh' = x
(X+Y) =X +vT (3.22)
(X)) = Xt

00000000, 00,2000000Y:2—-V,X:V — AQO
0XY:Q2—»A0000D0000 (XY) :4— 000000000,
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(XY)'0OOOOOO0O0 jw) e, [A)eADDDOO

(W (XY)TA) = (AXY )" = (ZQ\X\%M&AY\W)

) (3.23)
= Z(w]Y”di><ai‘X”>\> = (w|YTXT|A)

i=1

OooO0.00000,
(XY = yixt (3.24)

000. 000 X'0000000000000. 000000 XToo
gogboobooooh,

szl al|X |a;) %\—ZZM (aj|Xla:))” (@l (3.25)

=1 j5=1 =1 j5=1

000000000.00,0000 X00000000 XTO

ZZMZ (@|Xa;) ay|—22|az ((aj1Xlai))" (@l (3.26)

=1 j=1 =1 j=1

000.00,0000X'000000000

n

tr(XT):Z (a;| Xa;))* ZZ (ai|X|aj)(aj|a:))*

=33 (@laalXla) = 3 (@1X o)) (3.27)

= (trX)"
gooodad.

goooobooooon

0000 wO CcOOoVoooooooooooo,0000o0ooo
0 0VOOcCcoooooo,000,0000000. (32)0000
ggooood

n n

(Ju))" = (aglu))™ (a5 = D {ulay)(a;] = (u] (3.28)

J=1 J=1
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000.000,000000000000 wO00O000000000
000000 uO00. 00000, (324)00

(X)) = (Ju))" XT = (ul X' (3.29)

goooo.
gooooboooooo
0000 (fj0vOoocCcooooooooooo,00ogoooooo

cO0o0vVvoooooo,000,0oooooo. 32)0000ooo
gogoo

()= Z Jas) ((fla:))” = Z |ai) (@l f) = [f) (3.30)

000. 000,0000(f|00000000000000000 |f)
000.00000, (3.24)00

(F13)" = XT () = XT]f) (3.31)
ooooo.
gogn
vooooo xXOo
XTX = XxXxT (3.32)

000000 X0OOO0O0OO0O0O0O0. X000000o000o00ooo0oao
000, X0

X = Hg + iH;
X+ XT

Hy = 5 (3.33)
X — xt

H; =

2
ooooo,

HyH; = HiHy (3.34)
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ggbooogoaoo.

goooood
vooobod HO

H' =H (3.35)

goooboo FO0o0obooboobo. ooboobobooboob
gb.0obobdb ee=c0bbobobobooobuobobon
0.000,H =HO0000000,000,00000000000
0000000000000000.00,0000000 |w)0000O

(ulHlu)* = (ulH'|u) = (u| H|u) (3.36)

gobbooooboboogbobobuooobobbooobbboooob.
gogbbobuooobobboooo,booogbbbooooboo.

gooood
voooodguouo

ut=uv-! (3.37)

000000 UO0000000000.00000000000000.
0000000 ¢ =¢, 000, c¢c=c*=|2=10000000
000010000000000000000.000,0000000
(3.37),000,

U'U=0U"=1 (3.38)

0D000000000000,0000000100000000000
0000000000.0000000000 |u, 000000000
00 UO000000 Ulw, Up)000000

(w|UTU|v) = (ulv) (3.39)

gobob.gob,ugogbbuooobbooobobooobbboan
godd. oo 1L DO O
gboobuoobbodob,gobbogbuoobbuoobbooboon
gobbooobbooobbuo.gobb,obobooobbooon
go.
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3.3 UOooOoog

goooon
00000000000000000000000000000000
000000.00000000000 {aay)O

(ai|aj) = 6ij (340)

gogoboboobo,ddebbbbuoogooobbb. oogg,gn
gogbbbuooodgbbb1boooobbbo,o0,bbooadn
gbogobogboobog. bbodbd bbb ogobbon
0,{(|]00000000000O00OO

gdodododo.ouo,bouoouoouoouoogo

godoo. ogooo,oboooooooooooooon

I =lay){ar| + -+ [an){an] :Zj:|ai><ai| (3.43)
000.00,0000 w0 [p)000 (3.9) 0

(ulvy = uf vl 4+ - - +uon —Zu“* & (3.44)

U00. 0000 XOOO e, c000000O0O0OO0OOOOOO
X=3 Y Xl = 2Dl Xg el
i=1 j=1 i=1 j=1
good,oooooooon xXto

ZD%WWWFZZMQMWWH

zl]l =1 j=1

= ZZ la;) ( XCm (o]

=1 j=1

(3.46)
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O000D0O0.00,00000
X = ZZW (a| X |ay) aﬂ—ZZ\az i {ajl (3.47)
i=1 j=1 i=1 j=1
O000,000000000 X0

ZZMZ (a;| XT |a;) aJ‘—ZZ‘a% (a;|X1a:))" {a;]

zl]l =1 j=1

S o) (X3 (a

i=1 j=1

(3.48)

goboboo.gobog,bboogobbogobbbebboon
ERERE

Hf = (H})" (3.49)

0000.0000,00([H),, 00000000000.000000
D00000000,000000000000000. (349)0000
0000000000000000,00000,000000 ¢HOO
D000000000.00,0000000000000«00000
0oo

U = (U;')" (3.50)

Je

oooo.oooo,oo0 (v, 0000000000.0000000
gogobooobbo,gogooboboboooodo. bboogog, g
a,c0000000000000D0O,X'000000XO000000
gogoobbbobbbbododoooogobobobbodoooooon
g.0bbooobobbdogobobbdooo,ooobobooobbboon

O00.00,000000000,0000 |w,0000 (f]

) = la)ui + - - + [an)uy,

ax ax <351>
(fl = fiaa] + -+ £ (an]
godoouoooooood
u| = uf(ar| + - - +u(a,
(ul =t (@ -

1f) = la) fi + -+ an) [
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000.00000,000000000 (e =(@00000

ul = ul”
G (3.53)
fi = fz

O00000.000 315)000oooooo.

goooon
gbooboboboooo0o,tb I, 0000b00b00b0obno Iggn
gobob.ogo,buoogn

Ih = I (3.54)

000000000.vVO0O0«O0O0O0000000000,00000
0]e;)0000 |a)e;]0000000.00,000 |a)e,]00000
0000. 000

In =) lai){ail (3.55)
icl
0VOOD {la)|ica#}00000000000000 Va000000
oo.voooouooooooboobooooooooouooooa,
o000 000, ooooooo
I I I 1 I R O 4
0Ia0lo=1—I,000

V=VadWo (3.56)

020000000000 Va=1Ia(V), Vo=1o(V)0OOO0O00000
000,V 0 V,000000000000 Vo=V& O000. 0000
00,VaO Vo0O00000000.000,000000 (3.56)000
00000000000000. (355)00000000,000 I,0
{la) |ic 4} 000 Va00000000000000.0000000
0000000,i000000000 |¢)0000000 (g 0 |a;) O
00000000000000000000000000000000
0000O0.0000,1,, 00000,V 00000000, 0000
00000000000000000000000000000000
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g2200000.000b00b0,0000bbbd00oooboboooon
gbgobgoboobooboobgao.

godoodoouoooodod
0002000000 |v), pYDOO0O000000

(ulu) (v|v) = (ufv){v]u) (3.57)

000O0. 000, |uw, [vWO0O0O000000000000000000
00000000,0000,w000000000000000000
00000. 00, 0000000 10000000000 V,0000
0000 VoOOO, [u)0 |u) = |ua) +|ue) 000000000, Val
ooooo

|v) (vl
Iy = 1 (3.58)
(v|v)
00000,00000 V000000 Io=1-1,0000. Iy, Io0
0000, |ua) = Ialu), juo) = oy 0000. 0000,

(ulu) = (ualua) + (uoluc) > (ualua) = W (3.50)

0000000,000000000 (357)00000.000, |u), |v)
0

V{ulu) + v/ {vlv) > v/ ({ul + ©]) (Ju) + [v) (3.60)
000
) [+ 1 o) 2 1] Tu) + o) | (3.61)

0000000000, (361)000000000. 000000000
Doooo. oo, (I lu) [+ v) 1)* = (ulw) + (vv) + 24/ (ulu){vfv) O
000,000000000 (357000000,

(ulu) + (v|v) + 2/ (u|u)(v|v) > (ulu) + (v|jv) + 24/ (ulv)(v|u)  (3.62)

000.000,000000 2022 > +200000000 2 = (ufv)
ooooo,

(ulu) + (v|v) + 24/ (u|v) (v]u) > (ulu) + (v]v) + (u|v) + (vju)  (3.63)
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00000. 00000, (3.62), (363)00, 00000 (3.61)000
0o.

gobd-u0ooooooddd
0000000000000000000000000000. VOO
0b0000000000.000,0006000000000000
0000. 0000000000000-00000000000000
00p00000000000000000. 00, ja)000 |b)0
0o0o00D0O0O000.000,

ja1) = W>’ (3.64)

A1) |

000.00,ee)00000

|CL2> o |b2> - ‘a'1><a’1’b2> (365)

A 1B2) = fan)(a [b2) |

0000,000 {ag]as) =0, {asla) =10000. 000000,

o) = |bk) — la1)(ar|be) — - - — ar—1){ax—1|bx) (3.66)

I'1bk) = lax)(ax|be) = - - = |ar—1)(ar—1|bk) |
O000,000 (a]ax) = -+ - = (ak—1|ax) =0, {agla)y =10000. O
gbobooboobobboobodbbogeebbooboobb. 0O
g, gob-oogoboboobobbb,jgggooooobobobobooon

gobbboooobobobooooooboobo.
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4.1 0OO0OO0O0O

goboooddooo
000000 CO0000000VO000,0000X0000.0
00000000000 (k)0

X|b) = [b)¢ (£ €C) (4.1)

000000,60 XO0O00, ) 00000000 X000000
0000.00000¢0000000000000000000V O
000000000O000. 000000¢00000XO0O00000O
00.000,

det (X —&I) =0 (4.2)

UgXxXoooooboooo. booobboobboobo,bboooo
bbb Xoboobooooboooobo.boboobobo xooo
O000.0D0000,d4)00oDooC0 e0DOO

Xt XY, bi bi
: : =] ¢ (4.3)
Xo o Xon by, by,
gog
XH =& - X1, by 0
: : Cl=1 (4.4)
Xoo o Xo,— ¢ by 0

00000000000, (42)0 (44)0 p)=00000000000
0D0000000.000000000000000, (44000000
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gbogbboobooo Xogoobooooboobooooboo. o
gbogo,gbbooboobooboo,obboboobooboob
goboo ogn.

dboogboodgiod

0000 XO000O00000O0VOOO0oO000o0ooooooo, X
000000000000, X0000000000000, (44)00
00 .000000000000000000000. 0000000
00000,000000000000000000000000000
0000000000000000000. 0000000000 XO
0oo0oO00o0o0oOé,.--,600,00,000000000000

0000000000 b={b),---,b)}000. 0000
X|b;) = |b:)&; (4.5)
00000
&1 @
X< - (4.6)
O &n
O00.000,X000s000000000000000.0000,
000006 ={kl,---,(,]}000 XO0OOOOOsOOOOO0OO
Ooo0o00O0oon
X = b)) (ba] + -+ [b)&n(nl =Y 1b3)&:(bil (4.7)
=1
0DO0oo00. 000, &y, .¢-0 X0000oooopooooa,
X =l + +&ale =) fwly (4.8)
p=1

000.000,Iyp=1,---,5)0000¢,00000 X0000O
V, 0000000, (47), (48)0 X0O0OOO0O0OO0O0O0O. XOO
000000 (48)00000000,00 Iy O

(X =& I) - (X =&)X = Epand) - (X = §q 1)

Iy = 4,
W — &) Ew — Eo-10)Ep) — Eprn) - E) — &) (4.9)
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0000.00,X000000,000,detX=¢6---6, 400000,
X = e ] 4t e B = SO E ] (410)
=1
0ooo,000,
X =g+ + €T = i&;ﬁhm (4.11)
god.

goodoooddooonn
2000000 XO0YODOOOOO,0000 XY #YX00O0O. 0O
000,X0YO0OO00([X,Y]0O

[X,Y]=XY -YX (4.12)
oooooooon,
[X,Y]#0 (4.13)
0000.00000,000X,Y00000XYOYX,000,
[X,Y] =0 (4.14)

gooooboo. oo, Xoydoobooboooobo. obo,
gbooob20000db0 X, Yyooobooooooooo,

X =&l + - +&sls) = Zé(mf(p) (4.15)
p=1
000
t
Y =nwyJoy +--+nwJe = Z Na)J(9) (4.16)
q=1

O000000oooooooo, (4900

), Jigy] =0 (4.17)
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000000000.0000, I,y X00000 V, 0YOoOoo
00 W,00000V,NnW,0000000.00000,X0Y0
00000 I,J,000000000000000000,

s t
X = Z Z SOLUGRO) (4.18)

p=1 g=1
oo

s t

Y= > nplna (4.19)

p=1 g=1
D00. 000000, X0YOOOOOODOOOOO0O000000
0000000000000, XO00000 &, -,&, YOOOOO
m, 00,00, X0Y0000000000000000000

b={b), - ,|b,)}000. 0000
X1bi) = 10:)&
) = B¢ o0
Y|bi) = |bi)n;
godoodg
[ & O
XL .
@) n
- : (4.21)
U )
y 2
| O M
god.ogodg
X = [b)&(bil + -+ )& (bal = > [b:)& (il
= (4.22)

Y = [br)m (bl + - - + [ba)ma (bl =Y [bi) i (Bl
=1

gboo.oo0,Xx,Yooooooooooo,obobobobob.
oo, Xgyvyuoooobooobooobooo.
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4.2 OJO0O0OOOOOOO

gooooddgoono

000000000000000000,0000000000000
000000,00000000000000000000000. 00
00 X00OO0O0O0O0O0000,000000000000000000
00000000.00,000000X00000000000000
00000000, X00000000000.000,0000 XO00O
0000000000000000000000000000, X000
0000000000.0000X00000000000000000
000 b={b),--,[b,)} 0000, 0000000 6 = {{bs],--, (bal}
000.000000 XO

X = [b)&(ba] + -+ [ba)&a(bal = D [bi)&(bil (4.23)
=1

D000. (423)000000000000
XU = b)) & o] + -+ [ba)En{bal = D [b:)&7 (bil (4.24)
i=1

00000.00000,0000 X00000000X'00000 X
000000000 ¢ 000,00,000000000 X0 X'O
)00 O00O0O0O0O0O0OOO0OOD. D00, XO000oOooooo,000
00 X 'O

X = (b)) bl 4 -+ b€, (bal = D (00} (bl (4.25)
i=1

ggoooo.

goooooooooood
000000000000 HOOO,H'=HOOOOO,

& =& (4.26)
000o.000,0000000 HOOOO OOOoOooO.

ggpoogoogoogn
0000000000 ovUooo,Uut=0-'0000o0,

&=¢" (4.27)
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oobo.0obo,0oo0bobvogoboo gbooub1ooooooo.
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5.1 0O 0O0O0O

oodg

a<z<bO000D00020000 f(x)00000000000000
0000D000.0000000000000000,000,0000
000000000000000000000000000,00000
000000000.0000,20 f(x)000000000 |fO000,
oo, |f/)0000vOoOooD.ooo,

b b
(flg) = / / f(@)w(z, o) g(")deds’ (5.1)

0000 |f)0|g)000000000,V000000000000. 0
00, w(r2)000 (5.1)000000000, (5.1)000000 (3.2)
000000000000000.00000,00,

w(z, ') = w2, x) (5.2)

goo.

gooon

gbobooobbogobob,gbbogl1bbogbbooil1obbogn
ggobbob. oo,gbbbbbuooooobbbobboodg,oaan
goodogoooboobb. ggg,bobobo,bbbbboobob,od0n
gbbuodgbbuogbbodg,ooobooob,obboobbodab.
gbbogbogbbogbogbbogboobboobo,boon
gbbooboobbodgb,gbuoobbodoboobbooboon
gobbogob.bug,boogobboogobooobobboan
gobboobobbooobbuooobbooobb.oo,bboan
gbbogboogbbogboo,bogbbodboobobooboon
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gbobbooobbooobbuo. gob,ogobobooobboboon
gbobobgboo,obobobooboo1oboboboooon
gobbooobbooobbuooobbooobbo. ogb,uon
gbogbobobobobo,oboboboboboboobobob
gogoddggg. bbb, 000000 oooooobobobbbbb.
gb,b0bo0obobgobobooooboboboboooooooon
gboogog,ugbugbobooboboobuodgbooboboob.

5.2 UUOOUOOOUOOOLOOO

gooooooooood
00 |/A00000000000000000

(&) = {1/& (2; — Az /2 < x < x; + Az /2) 53)

0 (0ooooon)

00000000,00000V,000.000,Az=(b-a)/(n—1),
00,i=1,---,n000,000,2=a+(—1)Az0000. 000

O,7=A{n),-,|lm)}0V,000000000. 000
Ooon
L= |m) (Al + -+ m) (Tl = D 17)(7 (5.5)
i=1

ooooo.oo00,77={nxn, -, (w000 -00000000. O
Oo,0000d

Xo = m)ar (Al + -+ |m)an(Fl = ) |m)a(7| (5.6)

i=1

ooooo,

Xolmi) = xi|m) (5.7)
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oo0oO0o. 000, |)0000 0000 X, 00000000000
00000.00-00000V,000 |f,)O

|fn) = an(xz)\/A_xhz) (5.8)

0000. 000000000 VAzOOOD |)0000100000
000000, 00, (x|0|f) 0000000
(Tilfu) = fulz)VAZ (5.9)

gogo.

goo0ooodgoon
00,n—o000000000,|f)—|f)00000000

b 1
)= / ) ) (5.10)
gog
b
f) = / f(@))z)da (5.11)
ogogoooooo. ooo,
1
mw=ﬁ§m> (5.12)
goaoo. oo |w>DDDDDDDDD. god,dououod
Lo
0ooo, (5900, (z0|f)0000000
(@f) = f(x) (5.14)

DO00. 00, (z/0 |»)000000 (#)0 (5400000000
r—200000000,000000000046z—2)000000.
000

(Z|2") = 6(x — 2) (5.15)
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000.0000000 (5.11), (5.14) 00

fla) = / F@)o(z — 2)da’ (5.16)

ggbobogog.bobb,o0oboo

I— /b\x><i‘\dx (5.17)

0000,00,n—o00000 X, 0

b
X = / 2)a(z|de (5.18)
googoooooooo.ooooo
X|z) = z|x) (5.19)

O000.000,00000 000020000 X00000000
gb.00Xobobooboobob.obobobobbobood,n—o0
gbobobob,b0ob0b Xobobo e bOooooog 20
goboobobod. g0, 0b000 Xogooboboooboboooo
gogboooga.

gooooboogd

o
Blz) = / || da (5.20)
godd
E(a) =0 (5.21)
oo
E®) =1 (5.22)
0ooo,00,

Bl = [ )@ e’ (5.23)
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000000000.000,E(@)D000|f)D0ae<2z00000000
000 z<b0000000000000000. 000

Baf = [ [ W)l de'as

Zl/mlx3<xﬂdm’ (5.24)
= E(x)

0000000 E(x)000000000000. 000, E(x 000
[(,2] 000000000000000000000000000. 00
E(x) 0000

E(xz, 1) = E(x2) — E(x1) (5.25)
oooo,z>2z000,
E(a1)E(xs) = B(ws) B(zy) = B(y) (5.26)
ooooo

E(x3,21)” = (E(x2) — E(x1))”

E(x2)* — E(x9) E(z1) — E(21)E(2) + E(2:)?
E(xs) — E(z1)
E(

X2, xl)

(5.27)

000.000, E(z,,2,)000000,00000 [21,2,)000000
000000000000000000000. 000, E(x)0000

dE(z) = |z)(z|dz (5.28)
00000000,00000 (517)0
[— / 4B (@) (5.29)

00000,000,X00000000 (5.18)0

X = /bx dE(z) (5.30)
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goooo.

gooooood
Oo0000 (h.17)ODO0O0ODOOODODODODODO,00 100000OODODOO
EEN

1:/ 1) (z|da (5.31)

Doo0o0. (5.31)0 (5.17)0 |f)0 |¢) 000 (flg) 0000000

(flg) = / / (F12) (]} (| g) dexd’ (5.32)

000. (flz) = f(x)*000 (F|g) = g(+) 00000 (5.1)0000
0o

(z]2')y = w(x,2) (5.33)

O00000000.000, (.31)0 (h.18)ooooooo

X = / ’ / B (e 2! (] dda (5.34)

000.00000,X0000000000000000000000
0000000000000. 000000,00000000000,
000, w(x+)000000000000000 w(x) 0000

w(z,z') = w(x)d(x — ) (5.35)

gboobobobob,bobobobo,Xoboboboboboo.
gboboboboboboboboboooooo,oboobobob
O0o0ooOo.oooo,00 (1o

(flg) = / £ (@) w(z)g(z)de (5.36)

000.00000(531)0 [2)0000000

b
o) = [ 1) @la)de’ = wiz)la) (5.37)
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000000000.00,0000000000000
(2] = w(z)(7] (5.38)

gogb.boood,boooobbbdaodgbobbod

= / ’ %dx (5.39)
goo
b
I= [ |Z)w(x){z|de (5.40)
0000, X0
X ab‘iziﬁf’dx (5.41)
goo
b
X = | |2)w(x)z(z|dx (5.42)

00000000000.00000,00000000000,X00
0000000000. 00,000 w,d)=66z—2)000,000,
00000 wx)=100000000000.00000

|Z) = |z) (5.43)
oo, ooooo,ouoood
b
Iz/\:c}(x\d:c (5.44)
dooo, Xooooooooao
b
X = / 2)a(z|de (5.45)

goooo.
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5.3 UUOOOOOUoOooboooon

ogooodn

0000,000 w(r,2)=46z—2)00000000,000,000
000000000 w()=100000000000000. 000,
a=-L/2,b=L/20000 «0b000000000,0000 LOO
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